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Simulate law of large numbers
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Law of Large Numbers

> runningmean = function (x,N){

+ y = sample(x,N, replace=TRUE)

+ c = cumsum(y)

+ n = 1:N

+ c/n

+ }

> u = runningmean(c(0,1), 1000)
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Law of Large Numbers

> x=1:1000; plot(u~x, type="l");
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Law of Large Numbers

> x=1:1000; plot(u~x, type="l");

> replicate(10, lines(runningmean(c(0,1), 1000)~x, type="l", col=rgb(runif(3),runif(3),runif(3))))
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Law of Large Numbers

0 20 40 60 80

0.
0

0.
2

0.
4

0.
6

0.
8

x

u

0 200 600 1000

0.
5

0.
6

0.
7

0.
8

0.
9

1.
0

x

u

0 4000 8000
0.
4

0.
5

0.
6

0.
7

0.
8

0.
9

1.
0

x

u


